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You do not have anything in it, except - 72981 121797 YRR KOR 12 72 PN
from the time of the novelty and onwards

Overview

X237 explained the reason why 091 X7 R2;791 1801 omr 7 is because 1"V is a w17°n (for
why do we believe that 2’ instead of the o »117), therefore this rule applies only
from the time of the 7717, but not from before. N1®0IN discusses and clarifies what
exactly is the w17,

MooIN anticipates a difficulty:
= 190199 191251071 23290107 1YY NI MYPNY PN

One cannot ask; how does X217 know that we believe the 1131 to disqualify the

7nnn from being able to testify again -
—31>509) 1PN JaN 2017 9UNI 1Y 10U IWITIN NON 291297 15 PRT NI

Let us say that we cannot include (in the law of 71177) anything, except the novelty
which the 7710 writes explicitly, namely, ‘and you should do to him as he plotted’;
but they are not disqualified -

nBoIN responds:
= 4PNRNNT RN 1NINN RDT 1009 19V D3 091 112 PRYUNT 1193 INTYY

For it is certain that since the 1"V have to pay, or they are Killed, so certainly they
are disqualified, for the 77910 did not believe the 7271 halfway —

mooin asks:
= ('a Ty 0w xINa xa3) DINAN NPINA MINRT RTON 2997 AV YaN

However, there is a difficulty according to '’ who maintains in 2°n357 np 279 -
=99 11D Y9PY YN0 1N 51T NN N MYININD DI1Y 15 INY

' v7,0> (0°vow) 0127 This means that whatever the 0>7v plotted to do to the accused (whether to make him pay or to

punish him with np%n or in°n), we do the same to the o*7v.

2 The 7110 does not state that the Pam 1 2>7¥ (the 1197 0°7v) are disqualified from ever testifying again, rather the 7N

(only) states explicitly the they are punished with ont 7w3, so how do we know that they are 17091

3 mpoIn is (seemingly) asking; how do we know that 727 27y are 2105.; why does X371 maintain that X317 83791 1897

o9, they should never be 9109! See ‘Thinking it over” # 1.

4 We believe the 7»°T» to punish the Pnmn; there can be no punishment unless there was a crime, meaning that the 1"y

lied (otherwise why punish them); if we assume they lied they are n17v% 9100. If there is a doubt as to who is lying, we

would not punish the 1"v.

5 72387 and 7Wnw ('R n2) testified that 07728 borrowed money from PR’ on 10°1 1" in 2%, and 77N M7 (‘2 N2)

testifies that 071aX was with them on 79°1 "9 in 7°72Y, and could not have possibly borrowed money from prix in

o"ow1. According to 1" both 2°7¥ °na (NYnw 1287 and 7771 M%) can no longer testify because one of these two sets
1
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“Two sets of 2>7» who contradict each other; why be involved with these false

witnesses’, and both sets of 2>7v are disqualified from testifying elsewhere -
= NTON 299 WITIN %N 09U 1925107YW N1 NAIN 69PD09YW NN YITN PN )5 ON

So therefore, there is no novelty in the fact that the 1"v are disqualified; on the

contrary, according to 1''1 the novelty is that the o517 0°7v are 29 w> -
- NTON 295 7N297 99917 *¥2 onm

But the X713 there initially wanted to say that 829 agrees with this ruling of i''!

MB0IN answers:
= NTON 295 N2YT 0NN 99910 S¥aT INNYT 91210 U

And one can say that according to what the X773 initially wanted to say there

that X219 agrees with 1''9 (regarding o7y °n3 '2), we will need to say -
= IMINIPYT NTID9 DIVN NIN SWITN DIWN NIYT NIYL M1 KD

That the reason of 821 why 7051 X377 827791 1801 1"V is not because that 1"V is a w71,

but rather the reason is because of the loss to the customers -
= 9995 NNYY 293 NI IV VINT NN 299 Y YPINT ONNT NP

And according to the conclusion of the X713 there, where it establishes that X237
can agree (even) with 57''1 who argues with 17" and maintains by mw°noni 27y °n2 2

1"X7, that each set can come by itself, etc. and testify, so therefore -
- NP 1°95993W N1 VITIN NN

There is a novelty that the first 2>7v (the 1"v) are disqualified —

Moo responds to an anticipated difficulty:
- NTON 297 NIPIN (0w 5,00 97 mynaw) PYAYIN DD P992 X219 IVUNT XN
And regarding this that 821 in PPpawi %> P9 answers, according to n''--
= MYN YNIT PRI

are certainly liars; we do not know which set, so they are both (ppon) 105.
6 The 1"y and the Pn°m77 27V are no less contradictory than 1"X7 7w non 27y °N3 '2 where both N7y °n3 are 17001, This
indicates that according to 11", there is no w17°n that the 1"v are 7109. This seems not to be in agreement with X273, who
maintains that the 7109 of 1"y is a w17°m.
" This is referring to the view of X271 there in 2°n377 NP1, which was cited in the beginning of the previous 827 71"7 'oin,
w"»y (TIE footnote # 5 & 6). The question is if X271 agrees with 1" that 1"X1T mw nona 07y °n3 2 are 12100 (and it is
no W), so it follows that the 7109 of 1"y is also no W 1°n (for they are no different from mw°nona 07y °nd 1), so why
does X237 claim that 091 X177 82771 1891 1"Y, since the 7109 is a w1 T°m; when it is no w7n at all, if X327 agrees with 1"
It may be true that punishing the 1"V is a w171, however we are discussing the 7109 of the 1"¥ (not their punishment),
and there is seemingly no w7 in their 2109, so why does X217 maintain 091 X177 X27721 1897,
8 Indeed, if X271 agrees with "7 there is no w17°1 that 1"y is 091
% See previous X371 71"7 '0n TIE footnote # 12, for an explanation of mmp?7 X7°05.
10 The fact that they are contradicted by the o»>1577 07 is no reason to disqualify them, just like by nwnona o7y °na ‘2,
who are not disqualified (according to X117 27), even though they are being contradicted.
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A mwn in 7' NO0A, but MooIN just said that according to the XIpon, X271 disagrees with 11" —

Moo responds:
= PN NYY X207 DIVN INY

It is not because he agrees with "9, but rather because (one of the ways) we can explain
that 7awn (is) according to 11"1.

In summation; the view of X2 that 1"y is a ¥17°1, follows the opinion of ¥1%77 27, who maintains by
T"RT MW nona @°7v 2N 2 that each one retains its MW NP and may testify; however, according
to X701 27 who considered them false 0°7¥ there is no w17 that 1"y are 12109 and therefore they
would be y191% 705.

mpon offers an alternate view:'!
=INT ]’§Vﬁ)\’) 119 VTN 2 99 XTON 2997 9999 v T

And additionally, one can say that even according to 11'' there is a w7917 in the 7100

of 1"¥ (as opposed to 2wnami 2*7Y), namely that they are certainly disqualified -
= 12N55901 NN 12N D21y 21199 NVYA 29DV Y110 11D 2PUNT INM

However, when 11"7 considers the two sets of 2>7v who contradict each other as

false witnesses, that is only out of doubt, but there is no certainty in their 9109 -
- 1139 519959 MY ANYD PPN “Pun 11 0Y 1N 1B2aN)

And if two witnesses from the marketplace would testify that this one borrowed

a mn from that one -
= 199 N9 H99INX 1T NN IR MYININD YN 0TY Y12 *NVUN NNNY

And one set of witnesses from these two 1''XT nywenon7 257 "n> would say, he did

not borrow, so even though they are considered (ppon) 7109, and seemingly we should not pay
attention to their claim that he owes no money, nevertheless -
= 159901 19910 NN NN ND
We would no extract money based on a doubt -
= NI VYN 7951 1199 DY 1991910 PO1NNY 199N 991250 09IV 011101 1IN

However, the 1''y are completely 125 even to retain money by their testimony,

1 Previously maoin assumed that there is no w17 in the 2105 of 1" (according to X701 27). Now n1901n will maintain

that even according to n"" there is a w171 in the 7109 of 1"y,

12 The w1 is that by 1"y they are 7109 °X71, however by 2w nani 2>V they are 2109 only p20n, not 2°2100 X

13 mooin will now show a practical difference between 2109 *X71 and 9109 90, so the 2109 °XT71 is indeed a w1 7m.

14 These witnesses are not part of the 1"Xr 2w 17 7Y °n3 ‘2.

15 We are not certain that this n3 is 2109; could be they are w3, and they are contradicting the 0>7v that testify that there

was a loan, therefore we cannot be 1771 XX, since we are not sure.

16 In this very same case if the 1"y would say that he did not borrow money, we would not heed their testimony (even

though it is only 177 P72 that the M2 should keep his money), and the creditor would collect his money from the debtor.
3
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therefore 1"y is a @717 -
- 1BphyDa INTID DAYINY T9INY WITIN NYWN NIN 12 79 PN 17957 2239

And regarding this (testifying 1vn °117%), X271 maintains that to consider them a
199182 98T, we can only do that 72381 w1797 NP, but not retroactively 7737 nywn -

Moo responds to an anticipated difficulty:

- 20858119 1NN NPNMY M9 S90Y 3 11799352 NIINT 919919 281 M1 1901 S99
And according to this the X712 (on X,3¥) could have said that there is another
difference between the two versions of X217, namely regarding all debt notes and

bills of sale which are X°x7 -
- NOSYAY DN MMPYT NTIOIT NIYLYT
Since according to the reason of nymph7 87905, the 1", will be believed to be X317
(up to the time of the nn17) for otherwise there will be a X7°09, however according to the reason of
w17°m, since there is no w17°1 in their X°¥177 7105 they will not be believed even ¥7517 -
= NTON 297 122 21NN 299 19291799392 NIINT NNDN NOHN 29WN NYT NN
But the reason the X713 does not mention this difference is because it only mentions

differences, which are valid both according to 53''7 and n''% —

In summation; according to this alternate view, X217 can agree with "9, and therefore regarding to be
Tn X%, there is indeed no w17°n that "'y are 7109, and therefore they will be ¥191% 5091 to be X*X¥mn
11 (according to the version X177 w171 1Y), however regarding to be 1n p*1rn, the 7100 of 1"V is a
WY (since 0°7¥ °n3 "2 can testify 1an P°17), therefore the 1n P12 9100 is only X291 X7,

n1voIN asks:
= 995 YITIN N NI 9IRN ON)

And if you will say; but why is it a w177 at all that we believe the onm, and disqualify
the 1"V -
- NINYTIA ONHPY ST 111 1P INT 11902 ININD PANAY YW 110 1 N9

For it is justifiable to believe the latter (the o°2*17277 0>7V) and disqualify the former

17 This means when the 1"y are testifying 1» P12 (as in footnote # 16), they are 9109 only X279 1R9n, since it is a
vy, for ownoni 0>7v would be accepted.
18 However, when they are testifying 7n %179 they will be ¥19m7 093, since there is no w17, for the same rule
applies to 1"RT DW°nni 0°7Y °ND .
19 Now that we are saying that the w17°n1 is only that they are not believed 117>, but that they are not believed X377
is no w17°1, there could be a difficulty.
20 A m5n W is written to be XX from the MY, and a rpn LW is X*¥1n from the 1211, so if the 2>7¥ on the MWW were
found out to be 1"y, the 70w will be invalidated according to the ayv of w1711, since there is no w17°1 that 1"¥ cannot be
X°¥1, since the same rule applies by w27 >7v as well (according to X701 27).
2l According to 77" that 1"XT 2w nona 07 °nd 2 are completely W for other cases, even X°%179, there is a v 70 by 1'v
that they are 7109 even 1112, so therefore they will be ¥1917 1a81 even X% since it is a w17
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(the 1"v), since the 2t have a w» for if they wanted, they could have

disqualified the former 2°7¥ by testifying that they are robbers?? -
= 23RT0M 299 122 X)HN 299 192 929102 ININA 21T 1T NN T MYININD DY 1% YNV

And similarly, there is a difficulty, whether according to 73''2 or 11''3, by sn> snw
TRT mwonont 2°7v, we should believe the latter set with this 9% —

N1B0IN answers:
- 199 Y NY DTN 22 23WA YaN HNN DTN RIN 191 70U NYT PN 13939 99N

And the >''9 answers that 1% is only applicable by a single person (who is

making a claim), however by two people (like two 0>7V), 3% is not applicable -
- 597 YO XY DT PIYOY NYPY NN MY DAY NYT PNT

For the minds of both of them are not the same, and what one wants to claim,
the other will not claim it —

A second answer:
= 26054y DIPNA 1Y 1N INN T NXPT AN IV

And additionally, this 13°% appears somewhat like a 32 which is contradicted
by 27y -
= 279YN9NY 13919 INN 15 071y VI *9NY
For there are witnesses that oppose the claim based on this %, to contradict it -
- 2199 792 PN 290 oy 021Y 12 195 YIY 29 HY 9N)

22 If the second set of 27y would have testified that the first set of 27y are 2’171, their testimony would be accepted

and the former set would be 2091 (since a 1713 is NM7Y? 9109), and their testimony would not be accepted, so now that

they are o’m the first set, they should be believed to be 201 the 1"y with this 13°n, so it is no longer a w171 that the

second set is 7109. See ‘Thinking it over” # 3.

23 Both 71" and 11" agree by 121 2>7v *n3 'a that we do not accept their testimony at all of either set; the question is that

we should accept the testimony of the latter set, since they have this 131 of Xm1713, and we should disqualify the former

set (only).

24 One person who makes a claim and he has the option of making a ‘better’ claim, which would vindicate him, we

assume that he is stating the truth, for otherwise he could have made the other (3’») claim.

2> When two people are stating something, we cannot say that it must be true for otherwise why are they not making

the ‘better’ claim, because it is possible that each one is afraid to make the ‘better’ claim for perhaps his partner, will

decide not to make that claim, and they will be contradicted internally. Alternately we will assume that they are false

witnesses, and as to why (if they are liars) they did not make the better claim, the answer is that perhaps when they

were plotting their lies, they could only agree on this claim, but could not agree on the ‘better’ claim (for whatever

reason), since Q"MW DI NYT °R.

26 If one has a claim and a 131 to support his claim, however his claim is contradicted by a>7v. The 1n will not be

effective because the proof of o7y is stronger than the proof of the .

27 The second set of 27y have a ‘good’ 13°», however their claim is challenged by the first set, their claim is against

o7y, and we do not utilize a 13» where the claim is opposed by o°7y.

28 mpoIN seems to be asking that our case is not like a regular 27y 01p13 W1 (where the W is ineffective), since here

the 13 has the additional factor that it is the 0>7¥ who have a 13»; perhaps in such a case the 1°» is effective. Alternately
5
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And even though there is also 2°7Y supporting the %, that does not matter at

all®® and they are not believed —

A (possible) third answer:
= 1IN DIY0N DITY PN ORY DITYN 1N 2Ty NOT [301]

[and furthermore] a 1292 is not superior to 2°7¥, meaning that even if there were

other 27y supporting these latter two 27V -
- 913919 19 Y3) NI 29N NNTIYN IX WININY N BNY 9D NY

They would not have the power to completely contradict these first °7v, for the
rule is two 07V are like one hundred 2°7v, and one is no more believed than the

other, so certainly by a 13%% which is weaker than 7y, that it cannot make one set of o7y
stronger than the other —

In summation; the latter 2°7¥ are not believed (both by 77177 and 7wn27) on account that they have
a 1n, for the could have accused the former 0>7v as 0°1713, because either 118 R? 30 2 1%°), or it
1s a °7v 0pna wen (and/or) a 1°n is no better than additional o>7y.

MooIN anticipates a difficulty:
= 0WN DY DIMINNND DY (owr 3,m 97 MAINIT 72 P93 9INT NN

And regarding this which the 71w» states in the second P99 of n12yn> ndon, ‘two

people who are signed on a document -
= 32993193 1IN 91 NN DIPNN RYY 0T AN PN ON 1 319391 DI0IIN IN DIVP 19IN)

And the signers said, ‘we were minors or we were forced, etc. when we signed’, if

their handwriting cannot be confirmed from another source, they are believed’
and we void the document, but this is (seemingly) a 2>7v 0112 131 —

perhaps the 0*7v cancel each other out, and only a 13°» remains.
29 mooin response (to footnote # 28) may be (according to those who are 0™ the "' [see footnote # 30]) is that by
"M »n the °7v are not cancelled out (Xn°77 1¥13) but that they are both valid (Xn°X7 18n3), therefore the o7y cannot
‘help’ the 131, since the other 0*7v oppose the 0’7y and the 13n; ¥"x¥.
30 There are differing opinions whether we are 71" 0™ as a third (and separate) answer, or we are not "1y 0313 and
the following is a continuation and explanation of the second answer. See ‘Thinking it over’ # 4.
31 The o7y are claiming even though we signed it, nevertheless the document is invalid, since we were either minors
or we were forced to sign (under the threat of death), and we were not witnesses to anything.
32 Presumably the reason they are believed to void the 70w is because they have a 13°», for they could have said, it is
not our handwriting, and the "W would be void, so believe them that they were 0°01181 o°10p. The question is how can
this 2n be effective, for since we have affirmed their signatures; that is considered as if there are two witnesses
confirming the 70w (that is the meaning of a TwW), and their testimony of 131 @°vp is contradicting the “ww, it is
apparently a case of *m "N and a » supporting the claim of a°10p, however we just said that by »n 0 a wn is
ineffective; how can we reconcile this apparent contradiction.
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nBoIN responds:
= 3¥95nNY NN NN YORY NONI DN9 HY NIN DPNHN Y0WN PRY 3NN 199 IND NN

This case of 121 2NN 2°Iw is not a 13 issue, for since the note cannot be
authenticated only by their testimony, so we say ‘the mouth that forbade is the

mouth that permitted’ -
= NNY NN RIN NOUNRY NANY 12310 (3,25 97 RPID NINNA DN 19INTD

As the X713 states there in that same P95, ‘from where do we derive the rule of

SNTW 7157 KT OKW 7157, etc.
- 3587 X920 NI %9 NNY XN 70999

And the X713 asks, ‘why do we need a 0B, it is logical that »niw 97 X7 JoRW 7197 —

MooIn anticipates and resolves another difficulty:
=100 9OYN YY DIINNH DY)

And in a case where two witnesses were signed on a "vw and the 0°7v died -
=197 MY Y7109 IN DIDNN IN DVP 199N PIYN 11 72 INI)

And two people came from the market and said that ‘these witnesses were
minors or forced, or unqualified witnesses’, where -

- 36595 591 199 NN 09N PR 9NN DIPNIN N 07 2N ONT OND 9INRT
The X713 rules there that if their signatures could be authenticated from
elsewhere, the disqualifying witnesses are not believed to testify 17 121 o°1vp,

rather it is two against two -
- 19393 157 1N BN 1IN 91 B251) INT 02199 13951 MINPT MY S91027 931y 98

It will be necessary to say that when they testified that the 2vwn *7v were 9105
n7Y, it means that they were relatives, for if M7y 9100 there means 2%%13, the
disqualifying 0>7v would be believed even if the "0w: *7v were before us,*” as moon

33 We do not believe them (only) because they could have said it is not our handwriting, but rather the note was never
authenticated so there is no 7w and therefore no >0 *7n.
3 It is not really a case of >m >1n there, because the note was never authenticated, they initially stated that it is an
invalid note since they were 121 o1vp. However, in our case here, it is a real *n1 ", since the first set testified that
(for instance) there was a loan.
35 This shows that the 8120 of 70XW 7197 is so compelling that it does not require a P109. A case brought there is when
a woman (whose marital status is unknown) states that she was married and divorced. We believe her because she
basically is stating that she is not married, and we have no reason to believe otherwise; the fact that she said she was
married cannot be held against her, since she immediately said that she is divorced. The same is here by the 0>7v that
they were never 0pn the 20w, they really said the q0w is invalid.
36 We look at the two 07y in the T0w as if they are testifying that the content of the 70w is correct and we assume them
to be proper witnesses, and the two 0°7v who are coming before us now as two contradictory 2>7¥ so it is >0 >0, and
we do not collect with this 70w, and we do not teat it up, and the money remains wherever it is.
37 See ‘Thinking it over’ # 5
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maintained all along that the latter 2°7v can disqualify the former 2°7¥ by claiming they are 01973 -
$IND TOINNY PRI DIINNR DININ YW I

And there are more answers that can be given but we will not elaborate here.

Summary
We know the 1"y are 2109, since they are punished. X217 can certainly agree with X117 27

and possible also with X701 21 (regarding 177 p°117777). There are various answers why
the (2°w°n2an) o711 are not believed with a 1. A T0XY 119 1s stronger than a n.

Thinking it over
1. moon asks how do we know that the 1"y are 1°9091.8 Is this question only on X27,
or is it on ™2X as well?

2. We know that 1"y are 9109, since they are being punished with ont 2wx> 2 anwy. ¥
Is the whn of 1"V the fact that they are 091, or is it because they are punished?

3. Why is it that regarding the claim of Xn11%7) it is obvious that the latter set are
believed (even though the first set deny and claim they are not 0°1913),*° however
regarding the nnm claim of an> i1 11nY (where the first set denies this claim), it is a
w17°11 that the o> 07 are believed. Why is there a difference in these two cases?!

4. How can we explain the two opinions whether we are 0113 the "1wY,*! or not?*?

5. mooin states that if the latter o7y would testify that the “ows >7y are o°1713, they would
be believed, however if the claim they are 2°amp it is »1M *n.** Why is there this

difference whether they claim %1713 or 2'21p; they seemingly should always be
believed?!*

38 See footnote # 3.
3 See footnote # 4.
40 See footnote # 21.
41 See footnote # 30.
42 Is the ‘proof’ of 07y and the ‘proof’ of W » in the same category?
43 See footnote # 37.
4 See (M) mwn nomA.
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